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an-nY 1m
Halfway through the nd>on
A pir'n vort for halfway through the n>on:

(ATT INOK) 72 N2 NN XN Ty
Well 2py' said D0 D wr
and 1wy said 21 O v
(A"2 P15 NOw)
DT 'OWID |'KY '9 NN )2 D21 [D1IAN NI [NDY 21N DINNY DPITXD [NON TYON "N
(.2' NVID) S1Aa
NN 7TXN 522 K1 DX TN Y22 1K NNY W01 Y21 MK DX MIN VDX 1 NN
72 W' ONI WO 921 K1 192 1IN 11OV 21N 1D1IAW 0N 1Y W' DX NDX (W01 D01 1N
(:XD NIDN2) 7TXA Y22 N1 122 1D1AN I'DY 2'aN INNY 0N
'NTR NI NNN DY VIpnny Myny tvoN "N NIMND DTN XD NNN DY 'vapn X'NT
AP AN T RN D KIN T XD T ATODT XY DA XTI IDIA W'D NMNYN Y2 DIvN np)»
N2INN NYYN DT INK N1IXRNAY 10D DTN XKANT T '2'2 'A0N NIN T XTON M1 XNITA0N 'INND
(:XX NNp N22) NDNX NOyN 'R N1l
So | want to say the D'p*1X care about what they have and at the same time they are
happy with what they have.
But when it comes to learning nInN:
NN D2IY2 XDI Nt 021Y2 XD NNIN 0OND 'K 07NON "TNYN 201 1IN 'WK 12 X'NN
(.TO NIDN2) 121 2'N DX 5'Nn 1D MKy
Maybe we can explain [ID70 's definition of wealth along these lines:
N2 ' TAIVY D'TAY 'PINITY IRNEDMID P 12 W'Y DD MIN 1910 1
perhaps we can explain the significance of the number 100 as we find in NA'AnN:
(:0 NA'AN) TANI NN 1PID MWD 0NIYD NN 1PID MY NNIT 1N
Perhaps we can say 100 is a set number, but 101 is incomplete, it is restless just like
the NNIIN 12 "KW DDN TNON etc.. so when it comes to NI'MWA perhaps we can explain
like 1910 1 that a wealthy man has 100 units of wealth, and not 101. But when it comes
to learning 121 NNIT 12'N. With that introduction | want to say we have reached the
halfway point in 1'12 N>0N. Should we feel satisfied? Or should we feel restless with
anticipation to finish the second half of the noon?
Jl1.D1A"D 1"
Keep going. Don’t stop
(:29 |'aNW) .21 NN XALLIDENTYXN
(.AD DITN) |'NXND NN 'K O0I' "N
NOW 52pO DPITX INX' DYDY DTN NX' 121 2'NDT 'NN OOI' M "IN DY NRERT eI
(:AD NV'XN NX121) 2V TV INTIAY D'OWNY M2 1Y TV INTIAV)I
Keep going all the way. You should be D" wn.
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(2:7'Swn) X' 0N yy
The nIn is our life.
Someone who made it to the half way point:
(.ND NIYN TYOXN M) NUAT N MK XI'NTIN 'O "NT 'Y NN
Some that didn't:
CIp |"TNI0D) DNM' IXN XD DDINMNINIE ARIT [ANIF "N
Finish the noon. Finish N0 mMImMn .
(0':> D"N2T) 0"Na MNAI

DX 2°XIN
(11 nSY) (:X2 13 nbuT) e A

Could he have been a 7n>n of 227?
(2 05pw)
Perhaps *1D was also a woman’s name:
The daughter of X171 '7:
(:71o Mn)
Well there was also > 12 AW 7 772 AN
Perhaps he was later. 19 ]2 TUAW "1 was a 7n?0N of 19 12 WP 1 who might have been a 7n%n of 12
X719 who was a 7n?n of *27.
0°122 171 °717 2°12°12
Perhaps in certain places in 0" the X711 refers to them based on
(.u M) 012070 T D12 12
One possible example:

(.o NAW) XOM 12 XN 127X L1
(01 pP217Y) X017 72 XA 12 0T7AR .2
(1D XYy X22) XOMTXNM2MA XA .3

| want to suggest that X017 was the son-in-law of X0 and Xnri was his son and the X701 in N2w
that says the father of X7 was X0, is Xj17 1X? because X0r was really the grandfather.

Since | mentioned X011 | want to bring two places he appears:
(:X2p Mn2’) XOMH >N 192K O°POK:T A M nK

(:719 MAIN2) TPo X1 XOM 17OW
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OK. Next
(:rop P2IN) Xwrn 1
(:N 077) XWRn
(.32 M2712) M2 12 WY T 2 XWRPR
(:72 M272) 1% 12 AT T P2 T2 XWRn

of the two that appear in M272 perhaps they are the same and 77”72 is X7 1X> because really
he was 71”12 72. If they are not the same then we would know that 1% 12 U1 "1 had at least
two sons:

(.32 M272) XwR»N
(.1 ©’noD) nor

| want to say that these two XnJ's prove that he had at least two sons:
L1271 X25172 25 w1 997K 100 X251 00 w1 XD Xnp X 12137 172 12 Uwi D KT
(1% o’ron)
(:17 M272) DN TR XIPA 02w N2XT DU 127°Nw10 PWK 1137 19 12 Ui iR KT

Next;

XX 727N T P2 RN T 127200

PN 1357 727 TINA XX 17NN DIX TV DX XIAX T2 7PN 1T P02 X T 72 702 0 XN
(.X5 M272) 7o 2

The same X7’ is brought in X TN 70 1?217°U in the name of X177 771 72 77N, Similarly we find
this earlier in 2170 :

121 W20 MPNX INK XAX T2 PR T P03 XA T 72 X3 T P02 0705 XTon D TnX
(.X2 P1R)

So | want to suggest that when it says his son it is X171X5, because he was really his grandson.
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His wife was 71111 ’s sister:
(.79 XUX¥n X13) °XIP1 XPOWT NN ‘|77 X127’ 2 0T °X 5K
He had a son:
(.1 n7un)
He had a daughter:
(.1 Pr2)
He had a°>p7717 " 1pn:
(:X°p MM XIX 12 XM M)
Did he also teach the daughter?
Happens to be &% ¥ holds( X ML 12 1°13) 712302 211 1°K 102
The Mwn in 0’773 says XN PN NXI 112 DX X7 TN Hax
(:1> 01m)

N2 IO P2 MK XM D 72N MY BTN ANWN OXY 70 102 DX 7092 07X 20 K1Y 12 70K 1K1
(.2 7VI0) MWD PAR " MYDM 2P AWK 71X IRIX YU " mPan 772 1N

He also had a jnimnn:

(.10 1IXamn) W’P'? 277 PININN AN 2 A M

Some N12%71 for D°*MD

Don’t drink and derive: (“Unwn this way Unwn that way, ok 72771 P03 is etc...”)don’t drink and pasken.
(.70 P21W) A 5X 7> 1PU 27 AN 27 K AT 10K

X7 TX DM T30 D213 *P?DXK MK TAXIY 1742 NIIX PAMM P30 X3 NUWA 133 22000 92 AN 11K
DN PR D2 K I T IMAW 0291 P?OXD D302 1733 PTIX 2207 X1 MAUT XIWPD pPEX KT Unwn
TN PUAY? TPNPY 10N DWW 277 DWW 277 177°°2 XK 1712 °XN0 R 121 0% P2 URwn XIR TN TRNX
(.710 P1PY) DWW 27T 7D 100 1 DWW 277 70 X

Don’t drink and daven. The MWW for pOB is a MW7, so what is the MWW for davening?
The MW for 01271 NX 121317 which we had in X> 77 11 is until he is V2 Sw 1MW Wi
according to the 0”217 at which point is words are meaningless.

(2™ 71257 X"o Mmn Mabn 0"an)
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Where is That 7109?
X177 X7°0 12 7902 XN 0°21N270 522 11°X1 717 XA InX NPT 0 DX ¥3

(7 DX %3 "7 °"w .0 P217°L)
This is not included in X”u7’s list of places where > says “I don’t know where it is” in the D”wi1 1123 in
(: 72 PoM) .
Here are 5 0’108 that can only be found in 0" (Nowhere else, not even in X7°0 12 190).
(10 07173) 702 Hxunw? M Hu hxIws a1
(70 om ’D‘?Wﬁ’) TP 73N ' 72T AN X¥D 522n°0 .2
(.72 0™ ’DbW]T’) il/Zah et @i Biakaiiiia) X .3
(:1ap Naw) 02% i wnn .4

(:20 @°1127) 10 TNW AWK NP1 07712 7017 K N3 197U 17 73°AR 220 17 1900 7 nnX 1.5



